NAME: _______________________________
BSAD 180: Managerial Finance

Final Exam
I. Multiple Choices (40%)
(  b   ) 1. The most valuable alternative that is given up if a particular investment is undertaken is called:

a. Sunk cost.

b. Opportunity cost.

c. Dead-weight cost.

d. Erosion cost.
e. None of the above.
 (  b   ) 2. The risk premium is the difference between the expected return on a risky asset and the return on:

a. Another risky asset.

b. The risk-free asset.

c. The market portfolio.

d. A market index.
e. A bank account.
(  c   ) 3. Given the following information: The risk-free rate is 7%, the beta of stock A is 1.2, the beta of stock B is 0.8, the expected return on stock A is 13.5%, and the expected return on stock B is 11.0%.  Further, we know that stock A is fairly priced and that the betas of stocks A and B are correct.  Which of the following regarding stock B must be true?

a. Stock B is also fairly priced.

b. The expected return on stock B is too high.

c. The price of stock B is too high.

d. The price of stock A is too high.
e. None of the above.
 (  c   ) 4. Given the following information, what is the standard deviation on this investment?

	State
	Probability
	Return

	Boom
	.20
	30%

	Good
	.60
	21%

	Recession
	.20
	8%


a. 0.0527.

b. 0.0638.

c. 0.0703.

d. 0.1159.
e. 0.0049.
(  c   ) 5. The expected return on a risky asset depends only on that asset’s:

a. Idiosyncratic risk.

b. Diversifiable risk.

c. Systematic risk.

d. Total risk.
e. Standard deviation.
(  b   ) 6. Given the following information, what is the expected return on the portfolio consisted of 50% of stock A and 50% of stock B:

	State
	Probability
	Return on A
	Return on B

	Recession
	.20
	8%
	-25%

	Normal
	.55
	47%
	16%

	Boom
	.25
	23%
	58%


a. 18.30%.

b. 25.75%.

c. 26.00%.

d. 33.20%.  
e. 31.50%.
(  b   ) 7. The set of portfolios that have the highest expected return given a particular level of standard deviation is called: 
a. SML.

b. Efficient frontier.

c. Feasible set.

d. Characteristic line.
e. None of the above.
(  c   ) 8. You own 400 shares of stock A, which has a price of $15 per share, and 2,000 shares of stock B, which has a price of $2 per share.  What is the portfolio weight for stock A in your portfolio?

a. 18.00%.

b. 40.00%.

c. 60.00%.

d. 75.00%.
e. 16.67%.
(   e  ) 9. A stock yielded the following historical returns: 10%, -2%, 3%, -1%, and 15%.  What is the covariance between the stock and the risk-free asset?
a. Not enough information for solving this problem.

b. 7.31%.

c. 5%.

d. 0.0053.
e. 0.
(   d  ) 10. The maximum growth rate a firm can achieve with no external equity financing while maintaining a constant debt-equity ratio is called:
a. IGR.

b. IRR.

c. APR.

d. SGR.
e. None of the above.
II. Essays/Calculations (60%)
1. (a) What is the “reward” and what is the “risk” in the reward-to-risk ratio?  Please answer this question using plain English; do not answer it using just a formula or a notation.  (b) Why adding the risk-free asset to a risky portfolio is almost surely beneficial in terms of reducing portfolio risk?

2. Titan Mining Corp. has 9 million shares of common stock outstanding and 120,000 9% semiannual bonds outstanding, par value $1,000 each.  The common stock currently sells for $35 per share and has a beta of 1.  The bonds have 20 years to maturity and sell for 95% of par.  The market portfolio is expected to yield 8% and the T-bills are yielding 4%.  The firm’s marginal tax rate is 35%.  What is the WACC for the firm? 
3. In broad terms, why is some risk diversifiable?  Why are some risks non-diversifiable?  Does it follow that an investor can control the level of unsystematic risk in a portfolio, but not the level of systematic risk?
4. The Best Corp. is considering a new investment that a life of 4 years.  Financial statements are tabulated as follows.
	
	Year 0
	Year 1
	Year 2
	Year 3
	Year 4

	Investment
	$10,000
	
	
	
	

	Sales
	
	$7,000
	$7,000
	$7,000
	$7,000

	Operating Costs
	
	$2,000
	$2,000
	$2,000
	$2,000

	Depreciation
	
	$2,500
	$2,500
	$2,500
	$2,500

	NWC Spending
	$200
	$250
	$300
	$200
	


The corporate tax rate is 35%.  Assume all sales revenue is received in cash, all operating costs and income taxes are paid in cash, and all cash flows occur at the end of the year.  All NWC is recovered at the end of the project.  The appropriate discount rate is 10%.  Do you accept the project?  Why?

5. We are thinking about whether we should produce and sell a new medicine, called Greeneer.  Should we treat the costs of research and development undertaken in connection with Greeneer during the past three years as relevant cash flows when we compute the NPV of this investment?  Please articulate your answer; just a “yes” or “no” is not acceptable.
6. Why do we use the factor of (1 – tax rate) for cost of debt but not for cost of equity?
